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[ | mL= | cc ]

ImL &1 cc DL
mL DBIIE cc IZEEHNZA52LH
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@M 7937mL= ( 7937 ) cc @ 8lé6mL= ( 816 ) cc

® 964cc= ( 964 ) mL @ 403cc= ( 403 ) mL
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[ | L=10dL ] ILIZIdL o> 1048
L OBEf% dL ISEEH0Z 5L %I,
X110 ¥HLLw
B KE{TS
[ 1dL=o0.IL |< taLriLo 10901
dL DHfi%E L ISESHABrEd,
X 0.1 itk + 10 FhgLn
® lédL= ( 1.6 )L
16(dL)x0.1=1.6L  16(dL)+10=1.6L
@ 9450dL= ( 945 )L
q450(dL)X0.1=945L 9450(dL)+10=945L
@ 820dL= ( 82 )L
820(dL)x0.1=82L  820(dL)+10=82L
@ 0.13L= ( 1.3 ) dL
0.13(L)X10=1.3 dL
® 8L= ( 80 ) dL
8(L)X 10=80 dL
® 50L= ( 500 ) dL

50(L)X | 0=500dL
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[ | dL=100cc ] ldL l&1cc @ 100 £
dL OEAI%E cc ICHENZDHLEL,
X100 FHILL
BUEKRETS
[ | cc=0.01 dL ] lec 2 1dL o 100 50|

cc MEB{I% dL IZEEH A B *|T,
X 0.0l F£=1x. = 100 FHULEN

@ 9300cc= ( 93 ) dL
3300(cc)X0.01=93dL  9300(cc)+100=93dL

@ 8léce= ( 8.16 ) dL
816(cc)X0.01=8.16dL  &816(cc)=100=8.16dL

® 96cec= ( 0.96 ) dL
96(cc)X0.01=0.96dL 96(cc)+100=0.96dL

@ 4.3dL= ( 430 ) cc
4.3(dL)X100=430cc

® 52dL= ( 5200 ) cc
52(dL)X100=5200cc

® 305dL= ( 30500 ) cc
305(dL)x 1 00=30500cc



	単位の変換　体積　詳しい解説 3.pdf
	単位の変換　体積　詳しい解説 3~4.pdf

